Timester Challenge

Identities

Identify if it is an equation (=) or an
identity (=) by using the correct symbols.

2x +4 |15

Find a solution for a and b by equating the

coefficients.
QRx—4)(x+3)+5=2x>+ax+b

: A
Silver

3(x —4) |3x—12

(x+a)(x—a)

24

Find a solution for a, b and c by equating the

coefficients.
2x2+8x—4=a(x+b)+c

Find a solution for a and b by equating the
coefficients.

7(ax +3) —2(5x+ b) =4x + 13

Gold

., A
Silver

16

2(x +4) + 3x

Bronze *

Find a solution for a and b by equating the

coefficients.
ax?+11x+b

X+ 4

=2x+3

: A
Silver

Find a solution for a and b by equating the

coefficients.
2(4x+8)—3(ax—5)=2x+b
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Identities
Answers

Timester Challenge

Identify if it is an equation (=) or an
identity (=) by using the correct symbols.

2x + 4 =15
3(x — 4) = 3x — 12

x?—a?=((x+a)(x—a)

2(x + 3) = 24

5x +8=2(x+4)+ 3x

Bronze *

Find a solution for a and b by equating the

coefficients.
QRx—4)(x+3)+5=2x>+ax+b
2x2 4+ 6x —4x —124+5=2x*+2x—7
Soa=2andb = -7 A

Silver

Find a solution for a, b and c by equating the
coefficients.
2x2+8x—4=a(x+b)+c
2(x% + 4x) — 4
=2(x+2)>-8-4
=2(x+2)?-12

. A
Sob=2andc=—12 Silver

Find a solution for a and b by equating the
coefficients.

7(ax +3) —2(5x+ b) =4x + 13
7ax+ 21 —10x — 2b = 4x + 13
So7ax — 10x = 4x
(14x — 10x = 4x)

hencea = 2
So21—2b=13
hence b = 4

Gold

Find a solution for a and b by equating the
coefficients.

ax?+11x+b
X+ 4

=2x+3

2x+3)(x+4)

232 +x1+1;L+ 12 Soa=2andb =12

., A
~+a Silver

=2x+3

=2x+3

Find a solution for a and b by equating the
coefficients.

2(4x+8)—3(ax—5)=2x+b

8x+16—3ax+15=2x+0b
So 8x — 3ax = 2x
(8x — 6x = 2x)
hencea = 2
Sol6+15=b
(16 + 15 =31)
hence b = 31

Gold
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